DU BSc Physical Education N Sports Sciences

Topic:- DU_J19_BDC_PE

1) Which of the following objects does not serve as a lever?

fFrafafaa 3 ¥ o9 @ avg fiaw & ©u § H1 781 Het 82
[Question ID = 14939]

1. Cricket bat/fshde §¢ [Option ID = 29753]
2. Tennis ball / ¢/ ST [Option ID = 29755]
3. Pulley / Qdil [Option ID = 29754]

4. Screw/ %&b [Option ID = 29756]

Correct Answer :-
« Tennis ball / 239 §d [Option ID = 29755]

2) Which of the following is considered as an active form of warm up?

frrafafaa & & fad 9 org &1 Iftha =9 a1 9141 82
[Question ID = 14931]

1. Diathermy / STyl [Option ID = 29721]

2. Hot water showers / T U} & 18R [Option ID = 29723]
3. Calisthenics / &I [Option ID = 29722]

4. Oil massage/ d HIfCIRT [Option ID = 29724]

Correct Answer :-
« Calisthenics / HRTAfHT [Option ID = 29722]

3) Which of the following is not a type of tournament?

fFrafafEd & @ $19 e R &1 gafde T8 82
[Question ID = 14976]

1. Lot system /dgd YUTTaHl [Option ID = 29904]
2. Knockout /AiTd 3T3¢ [Option ID = 29901]
3. League/ §NT [Option ID = 29902]

4, Consolation /¥icaT [Option ID = 29903]

Correct Answer :-
« Lot system /dgd WUTTcl [Option ID = 29904]

4) Which of the following is an example of combination tournament?

ol & @ S 91 SifRqRH gafde 1 U@ 331830 22
[Question ID = 14969]

1. Knockout / Id T3¢ [Option ID = 29873]

2. Knockout cum knockout/ i@ 3T3¢ g AH33C [Option ID = 29876]
3. League/ ©NT [Option ID = 29874]

4, Consolation/ HicaT [Option ID = 29875]

Correct Answer :-
o Knockout cum knockout/ FHIMIT T AP 33T [Option ID = 29876]



Which among the following is not an advantage of league?

fraferfEa & @1 a1 v &1 oy T 82
[Question ID = 14971]

1. Sports become more popular./ T 3P AT B 1 8l [Option ID = 29883]

2. Only strong teams win./ad Asgd <A &1 Siiddt 1 [Option ID = 29882]

3. It requires more time./ % e Sarer 9wy =1feu| [Option ID = 29881]

4. Teams get full opportunity to show performance./ & Y UeRH feam @1 TR 3{aiR forar g1 [Option ID = 29884]

Correct Answer :-
« It requires more time./ 9% 7T SATGT IHT =TI [Option ID = 29881]

6) Which among the following is a method to improve muscular endurance?

fFrafafaa & ¥ S 91 gl e § guR w33 & v ve fafu g 2
[Question ID = 14962]

1. Isotonic exercises/ 3TSACIHd MM [Option ID = 29845]
2. Fartlek training/Tcad URI&UT [Option ID = 29847]

3. Sand running/3d &I [Option ID = 29848]

4. Pace runs/Tfd T [Option ID = 29846]

Correct Answer :-
« Fartlek training/WTEcd URI&UT [Option ID = 29847]

7) Which pass is not used in Basketball game?

IIEPbe 9l Ao | fpd URT &1 IR T8 forar Sirar 82
[Question ID = 15009]

1. Bounce pass/ST3HUN [Option ID = 30034]

2. Chest pass/@'l'cﬂtlm [Option ID = 30033]

3. Dig pass/SHT U [Option ID = 30036]

4. Overhead pass/3{laxg8UT [Option ID = 30035]

Correct Answer :-
« Dig pass/SIT U [Option ID = 30036]

8) Which one out of the following is the Personality Trait of an Endomorph person?

Yg MATPR & Afdicd ARV A A TP &
[Question ID = 14946]

1. Mentally Intense/ Hedl oid [Option ID = 29784]
2. Introvert / 3f@HT [Option ID = 29781]

3. Sociable/f@ IR [Option ID = 29782]

4. Assertive bold/g®R dits [Option ID = 29783]

Correct Answer :-
« Sociable/f@ R [Option ID = 29782]

9) In international matches, a hockey team comprises of-
SeRTST A=Y #, o it 1w e @
[Question ID = 14982]

1. 16 players/16 f&@TS! [Option ID = 29925]
2. 11 players /11 fI@TS! [Option ID = 29926]
3. 18 players/18 RIATST [Option ID = 29927]
4. 20 players /20 f&@TST [Option ID = 29928]



Correct Answer :-
« 16 players/16 fG@TS! [Option ID = 29925]

10) In its nature, the human motion is-

P! uPfa |, g Tl T @2
[Question ID = 14935]

1. Circumambulation /ATfeREidd! [Option ID = 29739]
2. Angular/ Fivig [Option ID = 29738]

3. Rotational / ‘ae\TJﬁ[Option ID = 29737]

4. Perambulatory/Tﬁ%iTﬂT-r [Option ID = 29740]

Correct Answer :-
» Rotational / ‘EI(]Jff[Option ID = 29737]

11) Pyknic is a Kretchmer’s Body Types classification which means-

Pyknic T Kretchmer YRR &1 auffeor § forge orf 3
[Question ID = 14945]

1. Having lean body /gddl IRR BT [Option ID = 29777]

2. Having balanced body /H@%ﬁﬂ]ﬂ?%ﬁ:ﬂ [Option ID = 29779]
3. Having short stature /B¢ &g dTd [Option ID = 29780]

4. Having fat body / HeT TR 8T [Option ID = 29778]

Correct Answer :-
» Having fat body / YT IRR g [Option ID = 29778]

12) If 28 teams are participating in a tournament then the total number of Rounds will be -
gfe 28 A tw gAfde & UFT @ 36 & @) Fa WSS P "W/ grit
[Question ID = 15007]

1. 5 [Option ID = 30026]
2. 4 [Option ID = 30028]
3. 2 [Option ID = 30025]
4. 3 [Option ID = 30027]

Correct Answer :-
o 5 [Option ID = 30026]

13) Pranayam is the-
IOy @

[Question ID = 15016]

1. Third Step of AshtangYog/3f8TT TINT T TRIRT =RUT [Option ID = 30063]
2. First step of AshtangYog/ 3817 TNT &1 Ugdl TRUT [Option ID = 30061]
3. Second Step of AshtangYog/3{STTT AT BT GQIRT =RUT [Option ID = 30064]
4. Fourth Step of AshtangYog/ 3{STT 4R & T TRUT [Option ID = 30062]

Correct Answer :-
« Fourth Step of AshtangYog/ IS TRT T AT T [Option ID = 30062]

14) An example of hinge joint is found at the
PIoT TG BT Th ISTET 872

[Question ID = 14934]

1. Knee / e+ [Option ID = 29735]



2. Glenoid cavity/‘@ﬂvﬂg T [Option ID = 29736]
3. Vertebral column/ SR¥eT TH [Option ID = 29733]
4. Junction of atlas and axis / Tccd 3R 31ef BT =M [Option ID = 29734]

Correct Answer :-
+ Knee / g2+ [Option ID = 29735]

15) Wasting time in cricket is unfair and results in-

e W wH vafq w311 3gfia § ok ST uiom:
[Question ID = 14978]

1. A caution /U HI@YTI [Option ID = 29909]

2. Reduction in playing time. /4@ & ¥Hg H &4 | [Option ID = 29912]

3. One additional ball to be bowled /U@ 3ffRkad Tig Tl WY [Option ID = 29911]
4. One penalty run /& TTeel I9 [Option ID = 29910]

Correct Answer :-
« Reduction in playing time. /&d= & THG & HHT| [Option ID = 29912]

16) What percentage of blood is received by the skeletal muscles during strenuous exercise?

PSR AWM F SR HHTd P! ATHURMAN GRT fHa-t U= & e gidT1 82 [Question ID = 14924]

1. 95 % -100% [Option ID = 29696]
2. 90 % -95% [Option ID = 29695]
3. 85 % -90% [Option ID = 29694]
4. 80 % -85% [Option ID = 29693]

Correct Answer :-
e 85 % -90% [Option ID = 29694]

17) A disorder where the sensory signal received by the CNS is not organised into an appropriate response-
% faeR et W gRT e WAl Gdba SRra ufafear & aafRa T gar g
[Question ID = 15013]

1. Oppositional Defiant Disorder/fageft LS IECaR [Option ID = 30052]

2. Autism Spectrum Disorder/3fifiesH WaeH f&q3iiar [Option ID = 30051]
3. Sensory Discrimination Disorder/¥dal HgHTd fd®R [Option ID = 30050]
4. Sensory Processing Disorder/Jdd! TEHRUN fdeR [Option ID = 30049]

Correct Answer :-
» Sensory Processing Disorder/¥dd! TR0 fabR [Option ID = 30049]

18) Two blocks of wood measuring 2x2x4 inches is required for which one of the following test-

TP U & oI 2x2x4 9 HIUA 910 AP & &) TP B ATIIHT gidl &
[Question ID = 14950]

1. Harvard Step Test/ gds ¥y o [Option ID = 29798]

2. 50m Dash/ 50 Hex ST [Option ID = 29799]

3. 40 Yards Shuttle Run/ 40 15T RIcdl X [Option ID = 297971
4. 1 Mile Rockport Test/1 HATgd ABUIE ¢ [Option ID = 29800]

Correct Answer :-
e 40 Yards Shuttle Run/ 40 151 RIcd X [Option ID = 29797]

19) In badminton, a game finishes at -

Sefiica ®, td T @H g 8

[Question ID = 14981]



1. 25 points / 25 3i& [Option ID = 29924]
2. 21 points / 21 3f& [Option ID = 29923]
3. 11 points / 11 3{% [Option ID = 29921]
4. 15 points / 15 3{& [Option ID = 29922]

Correct Answer :-
« 21 points / 21 3{% [Option ID = 29923]

20) A group of inherited diseases characterised by progressive loss of muscle mass and consequent loss in muscle
strength is referred as -

favrara § fireft Sl &1 v wqe s AiadRa) ) wfaefia a1 @ € ok #iaiRel # dared d sh ad @
[Question ID = 15010]

1. Meningitis/Hf&TSHTaRTT TMY [Option ID = 30039]

2. Multiple Sclerosis/TeeIud WRIRRT [Option ID = 30040]
3. Cerebral Palsy/ A% T&TaTd [Option ID = 30037]

4. Muscle Dystrophy/AI U= f$XIHT [Option ID = 30038]

Correct Answer :-
« Muscle Dystrophy/ARTuRlT f&XIHT [Option ID = 30038]

21) A Balanced diet is one that
Fgferd 3TER 98 & S [Question ID = 14919]

1. Has been cooked very well / §gd 38! dRg ¥ UHAT 7T § [Option ID = 29675]
2. Is extremely appetizing/ 3f&d W@y § [Option ID = 29676]

3. Satisfies our hunger / BARY 4 &I TP HRdT § [Option ID = 29673]

4. Contains all elements of food / o & It I =nfia & [Option ID = 29674]

Correct Answer :-
« Contains all elements of food / HIoH & T4 dea A %‘ [Option ID = 29674]

22) In a league tournament points awarded for winning a match is-

o gafde ¥ ue A9 Siian W &0 o1 fFan i fed wima @:
[Question ID = 14970]

1. 1 [Option ID = 29877]
2. 5 [Option ID = 29879]
3. 7 [Option ID = 29880]
4. 2 [Option ID = 29878]

Correct Answer :-
e 2 [Option ID = 29878]

23) Number of matches in Round Robin Tournament is calculated by -
Ss e gafde # a9 #Y = $t 7o -

[Question ID = 15004]

N (N+2)/2 [Option ID = 30014]

N (N-2)/2 [Option ID = 30015]

N (N-1)/2 [Option ID = 30013]
N (N+1)/2 [Option ID = 30016]

PN

Correct Answer :-
e N (N-1)/2 [Option ID = 30013]

24) According to rules, the temperature of water in the swimming pool should be around-

ot & ergaR, RaffiT ga & urit &1 ara| S gie Tifge:



[Question ID = 14980]

8°Celsius /28 T3t AT [Option ID = 29919]
7°Celsius/27 TS AfRm™T [Option ID = 29918]
6°Celsius /26 fSI TR [Option ID = 29917]
9°Celsius /29f&F AfTTH [Option ID = 29920]

NDNNDN

1.
2.
3.
4.

Correct Answer :-
« 28°Celsius /28 &3t T [Option ID = 29919]

25) In knockout system, what is the formula for calculating total number of matches?

AT 3M3e gt Yorel A Aaw &Y 0T &1 71 BIyar 8
[Question ID = 14965]

1. ( N+ 1)/2 [Option ID = 29859]
2. N-1 [Option ID = 29857]

3. N+1 [Option ID = 29858]

4. N ( N-1) [Option ID = 29860]

Correct Answer :-
e N-1 [Option ID = 29857]

26) In flat foot which of the following curve is missing.

HUTe AR A 1T I TE g 2
[Question ID = 14932]

1. Upper Curve/ 3931 @b [Option ID = 29727]
2. Inner Curve/ 3{TdRRe dsh [Option ID = 29726]
3. Outer Curve/ STgX1 9% [Option ID = 29725]
4. Lower Curve/ f9<Iell b [Option ID = 29728]

Correct Answer :-
« Inner Curve/ 3fTdRe® a% [Option ID = 29726]

27) How many time outs are allowed to a team in handball match?

geata 7 ¥ faft due! fam Twa & fw srgafa & St 82 [Question ID = 15000]

1. One in each half of pIay/@?lef P UdP MY H UH [Option ID = 29997]
2. Two in each half of play/Jdid 318 & &I [Option ID = 29998]

3. Two at any time/ fot +ft ¥73 QI [Option ID = 29999]

4. Five in each half of play/ faeige t =81 [Option ID = 30000]

Correct Answer :-
« One in each half of play/Qd & Ud® MY H TH [Option ID = 29997]

28) Genu Valgum is also referred as-

S a6 oft BT TaT @
[Question ID = 14957]

1. Round shoulder/Td &% [Option ID = 29828]
2. Flat foot / JuTe TR [Option ID = 29827]

3. Knock knees/ ge-f & & [Option ID = 29825]
4. Bow legs / JS! §s 1T [Option ID = 29826]

Correct Answer :-
« Knock knees/ gel & & [Option ID = 29825]



Genu Varum is also referred as-

S ao| B Wt T fvar ma @
[Question ID = 14956]

1. Round shoulder/Td &% [Option ID = 29824]
2. Flat foot /gUTe TR [Option ID = 29823]

3. Knock knees/ A& =t [Option ID = 29821]

4. Bow legs /931 g8 €I [Option ID = 29822]

Correct Answer :-
« Bow legs /8! s THT [Option ID = 29822]

30) Knock out tournament is also known as -

At 3r3e gtde & ff ST STaT
[Question ID = 15003]

1. Round Robin Tournament/ IS E AT gAME [Option ID = 30012]
2. Single league Tournament/ Uhdl T Q:Iﬁ'c’ [Option ID = 30011]

3. Stair case Tournament/ HTGIgAT gAHE [Option ID = 30010]
4. Elimination Tournament/ 3= [Option ID = 30009]

Correct Answer :-
« Elimination Tournament/ 3<¢- [Option ID = 30009]

31) From out of the following, name the water soluble vitamins?

fFrafafaa & Q, ot & gae=ia faef= s1am &2
[Question ID = 14940]

1. NapThoquinone/ AuAfSHAA [Option ID = 29760]

2. Chole calciferol/ ®IfThARIHRIA [Option ID = 29759]
3. Retinol/ {1 [Option ID = 29757]

4. Thiamin/ YA [Option ID = 29758]

Correct Answer :-
« Thiamin/ YTaf8 [Option ID = 29758]

32) A standard athletic track has a length of 400 mts and -
TP U TYARP b F @ars 400 Hiew 3iRR-

[Question ID = 14977]

1. 8+1 lanes / 8+1 T [Option ID = 29908]
2. 6 lanes /6 T [Option ID = 29905]

3. 10 lanes/10 T [Option ID = 29907]

4. 8 lanes/8 T [Option ID = 29906]

Correct Answer :-
« 8 lanes/8 T [Option ID = 29906]

33) If an individual acquires knowledge of the principles of safety, it will enable him to-

afe IS afe JRem & Rigial &1 I U Har €, a9 T8 I J&H H?
[Question ID = 14929]

1. Prevent incidence of accidents / Q't'f?:ﬂx’»ﬁ Pl ADHYH B A [Option ID = 29715]

2. Take precautions against untoward happenings/ 381 Ge-13f & Ufd YT SR+ A [Option ID = 29716]
3. Handle Casualty at once/3TH ¥ gdled & SUIR H [Option ID = 29713]

4. Forecast time and place of accidents /gHeT3T & THY UaH I &1 YaiJHH [Option ID = 29714]



Correct Answer :-
» Prevent incidence of accidents / g‘zia:i 37 BT AHUH A H [Option ID = 29715]

34) Terrace training is also known as-

T ulneror &1 forg A8 I ST ST 8-
[Question ID = 14963]

1. Circuit training/ GRTY URI&UT [Option ID = 29852]
2. Ballistic method/ W&ifi® fafdr [Option ID = 29850]
3. Fartlek training/WT¢ad URI&UT [Option ID = 29851]
4. Interval training/ WEHTdR UTRI&OT [Option ID = 29849]

Correct Answer :-
« Interval training/ &ATAR URI&UT [Option ID = 29849]

35) Exercise physiologists believe that all sprinters, middle and long distance runners, in fact, run with their

AT TR fagferal &1 A @ 6 @aft RBied, 7er ok ot gft & urae, ara ¥, oA I1y ded @2
[Question ID = 14923]

1. Legs/TR [Option ID = 29690]

2. Heart /T [Option ID = 29691]

3. Lungs/%Ws [Option ID = 29689]

4. Muscles/ATTURMAT [Option ID = 29692]

Correct Answer :-
« Heart /f&@ [Option ID = 29691]

36) First menstrual bleeding in women is called-

#fgenai A ygd Aie «¥ & IaaHTd B HeT oar
[Question ID = 14972]

1. Menarche / RS [Option ID = 29885]

2. Amenorrhea /3EHIRAT [Option ID = 29886]

3. Osteoporosis / 3RCATARIFAY [Option ID = 29887]
4. Eating disorders / @ & fd®R [Option ID = 29888]

Correct Answer :-
e Menarche / I [Option ID = 29885]

37) Ms. S. MirabaiChanu who was Rajiv Gandhi KhelRatna award recipient of 2018 belongs to
it T dRrarg 91, S Trehta i @a v REPR 2018 ff, f @ A "afta 82 [Question ID = 14954]

1. Gymnastics/ fSTHATREa™ [Option ID = 29814]
2. Wrestling/ <l [Option ID = 29816]

3. Shooting / [f¢TT [Option ID = 29813]

4. Weightlifting /HRIIIE [Option ID = 29815]

Correct Answer :-
« Weightlifting /HRIII@ [Option ID = 29815]

38) Who among the following acts as a time keeper in football match?

Ppeaid A H eIgH IR & w4 § fAufafad § @ &9 o sar @
[Question ID = 14988]

1. Lines men/ @3~ &9 [Option ID = 29951]
2. Referee/ fAUIIe® [Option ID = 29949]



3. Assistant referee/ Tg® X! [Option ID = 29950]
4. Recorder/ R T [Option ID = 29952]

Correct Answer :-
o Referee/ BlUIRED [Option ID = 29949]

39) In one of the postural deformity, the spine curves from side to side is called-

Ty R AdTe d, g fe A gsar e
[Question ID = 14948]

1. Kyphosis/®d$ [Option ID = 29790]

2. Scoliosis/®eSIdT [Option ID = 29789]

3. Lordosis/3{Udsidl [Option ID = 29791]
4. Flat Foot/Udie TR [Option ID = 29792]

Correct Answer :-
« Scoliosis/@eIdl [Option ID = 29789]

40) In which of the following body parts does the body fat stay in one place, forming a great cushion to protect us
from injury?

fraferfad A 3 f5a 3 § TR F Tdf T WM R T4t 8, O g/ @i 3 991 & T te dgadi= afear s ST 82
[Question ID = 14928]

1. Abdomen /3aX [Option ID = 29712]
2. Heels/gIed [Option ID = 29711]

3. Buttocks / Fdd [Option ID = 29709]
4, Biceps/&'l%@'ﬁﬂ [Option ID = 29710]

Correct Answer :-
« Heels/gI& [Option ID = 29711]

41) A Postural Deformity in which the lower legs are angled outwards-

T TRgRa Rphy R Fred i) arew o ol Fior 81 &
[Question ID = 14947]

1. Kyphosis/®d8IU- [Option ID = 29787]

2. Scoliosis/ 1&g &sTaT [Option ID = 29786]

3. Lordosis/ U sIdl [Option ID = 29788]

4. Knock Knees/ &% g [Option ID = 29785]

Correct Answer :-
« Knock Knees/ GXi@ gc [Option ID = 29785]

42) How many substitutions are allowed to a team during a hockey match?

gio! A9 P SR T I F) fraa ey faw wma 82
[Question ID = 14996]

1. Two / &I [Option ID = 29983]
2. Three/ 9 [Option ID = 29982]
3. Four / IR [Option ID = 29981]
4. One/ U [Option ID = 29984]

Correct Answer :-

43) How do you define Psychology today?
TS 31T AN $F HA g uTfia #3a 72



[Question ID = 14941]

1. The study of mind /A9 T AT [Option ID = 29762]

2. The study of soul /3THT ®T AT [Option ID = 29763]

3. The study of consciousness /AT BT T [Option ID = 29761]

4. The Science of Human Behavior and Mental Process /HId dgRR 3R HHRYS Ufshar &1 fage [Option ID = 29764]

Correct Answer :-
« The Science of Human Behavior and Mental Process /HT-d S9dgR 3R e Ufshar o1 fax [Option ID = 29764]

44) How many byes will be given in a Knock out tournament if the number of teams participating in a tournament
is19?
gfe fpdt gafdie & umT a9 areft A0 it Wem 19 8, @ I AP 313 gAade ¥ & wrwtt

[Question ID = 15008]

1. 23 [Option ID = 30032]
2. 13 [Option ID = 30029]
3. 12 [Option ID = 30030]
4. 14 [Option ID = 30031]

Correct Answer :-
e 13 [Option ID = 30029]

45) How many times does the cardiac cycle precisely occur in a healthy adult in one minute?

TP WR IO | TS fie A fras ged 9% o 2|
[Question ID = 14926]

1. 70 [Option ID = 29701]
2. 74 [Option ID = 29703]
3. 72 [Option ID = 29702]
4. 76 [Option ID = 29704]

Correct Answer :-
e 72 [Option ID = 29702]

46) How many teams will be there in upper half if, 18 teams are participating in a knockout tournament?

TS AlB3AT3E Yurelt ¥ o faarfsal @ W@ 18 &, @ Sudt e Y # fran faars) g
[Question ID = 14964]

1. 10 [Option ID = 29856]
2. 7 [Option ID = 29853]
3. 9 [Option ID = 29855]
4. 8 [Option ID = 29854]

Correct Answer :-
e 9 [Option ID = 29855]

47) How many teams will get bye in a knockout fixture of 23 teams?

23 & & Arwaen3e fraR # fraq farteal &t ars foraft?
[Question ID = 14966]

1. 13 [Option ID = 29863]
2. 9 [Option ID = 29864]
3. 8 [Option ID = 29862]
4. 6 [Option ID = 29861]

Correct Answer :-
e 9 [Option ID = 29864]



48) How many test items are there in the famous Kraus Weber Test?

UG P IR & H fraq Txwe3mged &2
[Question ID = 14994]

1. Six / ®8 [Option ID = 29974]

2. Three/ 9 [Option ID = 29976]
3. Five / U [Option ID = 29973]
4. Four / IR [Option ID = 29975]

Correct Answer :-
e Six / ¥g [Option ID = 29974]

49) To which level of education are the intramural sports competitions most relevant?

SR | ufaafare Bt fra R Y Rian wedele i 82
[Question ID = 14993]

1. College / @Iaisf [Option ID = 29970]

2. University / fa%faeiiera [Option ID = 29971]

3. All levels without exception / foFTT foefteraarg & Tt TR [Option ID = 29972]
4. School / ¥® el [Option ID = 29969]

Correct Answer :-
« All levels without exception / foFT fareitemare & T+t W [Option ID = 29972]

50) Naismith trophy is associated with -

ARy T frg @ A Je1
[Question ID = 14961]

1. Badminton /SSf¥e [Option ID = 29844]
2. Tennis /i [Option ID = 29843]

3. Handball /8SaTd [Option ID = 29841]

4. Basketball /STRdredid [Option ID = 29842]

Correct Answer :-
« Basketball /SReald [Option ID = 29842]

51) Height of goal post in football is-
Ppeard | Nd URe @1 ST 8:
[Question ID = 14986]

1. 6 feet / 6 WIC [Option ID = 29943]
2. 8 feet / 8 T [Option ID = 29941]
3. 7 feet / 7 WIC [Option ID = 29944]
4. 24 feet /24 I [Option ID = 29942]

Correct Answer :-
« 8feet /8 WIC [Option ID = 29941]

52) Height of antenna in volleyball is-

arcitara § AT Ht Ha18 2
[Question ID = 14987]

1. 1.80 meters /1.80 HIex [Option ID = 29946]
2. 2.25 meters /2.25 Hiex [Option ID = 29948]
3. 2.50 meters/2.50 Hiex [Option ID = 29947]
4. 1.55 meters /1.55 HIeX [Option ID = 29945]



Correct Answer :-
+ 1.80 meters /1.80 Hiex [Option ID = 29946]

53) Contused wounds are caused by-

Jideifa ura fPad HRU g 82
[Question ID = 14930]

1. Animal claws / EI?{IE'I@T [Option ID = 29720]
2. Gun shots / T ¢y [Option ID = 29718]
3. Knives / 9% [Option ID = 29717]

4. Baton blows / §e [Option ID = 29719]

Correct Answer :-
« Baton blows / §¢ [Option ID = 29719]

54) Shivanthi Gold Cup is related to-
Rradt s v frad walta @

[Question ID = 14960]

1. Hockey / Bidb! [Option ID = 29840]

2. Badminton /Ssfies [Option ID = 29838]
3. Volleyball / aTcliald [Option ID = 29839]
4. Football / Gedld [Option ID = 29837]

Correct Answer :-
« Volleyball / diciiaia [Option ID = 29839]

55) Significant limitation in Adaptive Behaviour is one of the criteria to identify someone with-

Pl AGER | He@yul WA fonedt 31 vgaA & fQ T Auds 7
[Question ID = 15011]

1. Vision Impairment/@eR # TRTE! [Option ID = 30041]

2. Hearing Impairment/jI-= & TRRTFT [Option ID = 30043]

3. Learning Disability/&Ra @1 f[dediiTar [Option ID = 30044]
4. Cerebral Palsy/ Af&Ish G&TeTd [Option ID = 30042]

Correct Answer :-

« Learning Disability/¥@ @1 fd&aiTdT [Option ID = 30044]

56) ApurviChandela is related to which game?

et S3e frw Q@ Walkea 82
[Question ID = 15006]

1. Shooting/If¢T [Option ID = 30023]

2. Billiards/fSferagd [Option ID = 30022]
3. Swimming/ﬁﬂﬁ [Option ID = 30024]
4. Athletics/ TYATeaT [Option ID = 30021]

Correct Answer :-
 Shooting/Y] & [Option ID = 30023]

57) In summer olymic games races beyond what distance are not run in lanes?

Wy Frefts Sicifde @t A a9 A 19 t gf 3t e T8 gt 82
[Question ID = 14985]

1. 1500 mts /1500 HieR [Option ID = 29937]



2. 800 mts /800 HICX [Option ID = 29939]
3. 400 mts /400 HIcX [Option ID = 29940]
4. 1000 mts/1000 HeX [Option ID = 29938]

Correct Answer :-
» 800 mts /800 e [Option ID = 29939]

58) In terms of biomechanics, gravity is what causes our-

TSR & e o, Teareyur garT Huffea sar @2
[Question ID = 14938]

1. Weight/HR [Option ID = 29749]

2. Stability /R [Option ID = 29750]

3. Volume/3{IId- [Option ID = 29752]

4, Equilibrium /e [Option ID = 29751]

Correct Answer :-
» Weight/HR [Option ID = 29749]

59) Which of the following forms the bulk of the undigested roughage in human food?
o ¥ @ 9 a1 WieH 9 Wi o (e ga &1 93T i@%1 82 [Question ID = 14920]

Feces / Ad [Option ID = 29678]
Uncooked vegetables/ o1 gt Afesrat [Option ID = 29680]
Cooked starch / T&T §3{T TTd [Option ID = 29679]
Cellulose / Feg@IS [Option ID = 29677]

Hwn =

Correct Answer :-
+  Cellulose / ¥&J@IST [Option ID = 29677]

60) one gram of carbohydrates in the body yields/
IR & TP U FIEgIgae A STG gIaT 82 [Question ID = 14921]

4 calories of energy / $dil B 4 AR [Option ID = 29683]
2 calories of energy / Folf BI 2 HAR [Option ID = 29684]
7 calories of energy / 3ol &1 7 HART [Option ID = 29682]
10 calories of energy / Folf BI 10 HART [Option ID = 29681]

e

Correct Answer :-
. 4 calories of energy / $oll B 4 HART [Option ID = 29683]

61) A condition in which the central vision is affected causing photophobia and poor colour vision but the
peripheral vision is normal is-

T T fRAf o wiel wifaan ok @R1e 1 ¥ & SR S =Y wwnfaa gidt 8, afes aiveda = amm=a gt 8
[Question ID = 15012]

1. Macular Degenerationﬁﬁbﬁﬂﬁ 3HY: Ud- [Option ID = 30047]
2. Cataract/Hifar fdg [Option ID = 30046]

3. Glaucoma/aTal WA [Option ID = 30048]

4. Diabetic Retinopathy/AYAg Teeh Yfe=102f [Option ID = 30045]

Correct Answer :-
« Macular Degeneration/d®IGR 3{¢: Ud- [Option ID = 30047]

62) A faulty substitution in hand ball results in -

TsaTa @a A rugef yfawime:
[Question ID = 14979]

1. Warning to offending player./ 3ThTH® RaaTs! &I ara-i| [Option ID = 29916]



2. 2 minutes suspension of the offending player/3{TshTH® @Fﬂé’f & 2 T8e &1 Hdia [Option ID = 29914]

3. 2 mins suspension of the offending player and a free throw for the opponents./ 3{TshTH® RaaTe! & 2 e &1 fAds 3R
faifert & fore wes g 1 [Option ID = 29915]

4. Ejection of the offending player from the game/ W@ ¥ 3HTUTS® RIATS! 1 3RAIHIT [Option ID = 29913]

Correct Answer :-

« 2 mins suspension of the offending player and a free throw for the opponents./ 3ThH® RS & 2 fiFe &1 fAde ik
faRIfT & fore wa g 9| [Option ID = 29915]

63) For which of the following acts in basketball, no technical foul is given?

IRFe dia A Fafafea § S 5w o & g $1 ao-et agar 78 & ardt 32
[Question ID = 14997]

1. Acts of violence/ f@TaTHTRI [Option ID = 29988]

2. Misconduct/gRT=R [Option ID = 29987]

3. Inadvertent collision/ 3o & E‘s‘ CdhR [Option ID = 29985]
4. Rowdiness/ GIGRTRT [Option ID = 29986]

Correct Answer :-
« Inadvertent collision/ 3T H §§ @R [Option ID = 29985]

64) A bandage should always be-

T U ghm gt Wik w?
[Question ID = 14933]

1. Sterile/ 1A [Option ID = 29730]

2. Clean/ 9 [Option ID = 29732]

3. Self-adhering /3% TSGR [Option ID = 29731]
4. Medicated / AfS% ¢S [Option ID = 29729]

Correct Answer :-
« Clean/ &H [Option ID = 29732]

65) ‘Strength is the capacity of the whole body or of any of its parts to exert force’. Who gave this statement?

TIfeT R IR a1 59 B ff e 1 9@ 37 Y erwrar @71 a8 U= foA fear?
[Question ID = 14974]

1. Aristotle/3RE] [Option ID = 29895]

2. H.M. Barrow and Ross M.Mcgee/ Td.UTH. R AR ﬁﬁ@ﬁw [Option ID = 29893]
3. Piere de. Coubertin./ f0TR T ®I8féT [Option ID = 29896]

4. M.K. Mathew and K.M. James/ TH.%. T 3R &.TH. SR [Option ID = 29894]

Correct Answer :-
« H.M. Barrow and Ross M.Mcgee/ Ta.TH. sSRI 3R I9 TH A [Option ID = 29893]

66) 'CHINAMAN' is related to which sport?
IR T Qd A I g2

[Question ID = 14984]

1. Cricket / fhpe [Option ID = 29935]

2. Badminton/ Ssfie [Option ID = 29933]
3. Archery / TRGTST [Option ID = 29934]

4. Kho-kho /@1-&1 [Option ID = 29936]

Correct Answer :-
« Cricket / fshde [Option ID = 29935]



67) Jury of appeal committee of any tournament works competition.

uferairar fAe & § P19 & TR0 A B B @
[Question ID = 15002]

1. During competition/ SR UfGAIRTAT [Option ID = 30006]

2. Post competition/ THTd UGG [Option ID = 30007]

3. Before deciding of tournament/ Q:Iffl? BT B B J U [Option ID = 30008]
4. Pre competition/ qa‘uﬁn‘rﬁm [Option ID = 30005]

Correct Answer :-
» During competition/ SR Ui [Option ID = 30006]

68) If 16 teams play in a knock out tournament then the total number of matches in the tournament will be -
gfe 16 H ATwas cgafdc A Qadi § dt gafic A pa dw gl
[Question ID = 15005]

1. 13 [Option ID = 30017]
2. 15 [Option ID = 30019]
3. 16 [Option ID = 30020]
4. 14 [Option ID = 30018]

Correct Answer :-
e 15 [Option ID = 30019]

69) A series of sports which a team finally wins and rest of teams loses the match is known as-

TV 9 T yaar o v A sifaw T sfiaddt @ ik 9/t H gR ot @, 39 A S ot @:
[Question ID = 14975]

1. Tournament/;qfﬁ"c’ [Option ID = 29897]

2. Fixture/fhaeR [Option ID = 29899]

3. Extramural activity/3feiferes TfAfafer [Option ID = 29900]
4. Committee/SfHfd [Option ID = 29898]

Correct Answer :-
« Tournament/gATH¢ [Option ID = 29897]

70) OCD stands for-
RS P i Fu w2

[Question ID = 15014]

1. Orientation Coupling Disorder/ 3{fH{d=arg g fddbR [Option ID = 30054]

2. Obsessive Compulsive Disorder/\_{ﬁfﬁ TR fGPR [Option ID = 30055]

3. Other Cardiac Disorder/ 3 gad fowrR [Option ID = 30053]

4. Osteoporosis Care Department/3fiREIIRIRNT S@HTA fHTT [Option ID = 30056]

Correct Answer :-
« Obsessive Compulsive Disorder/S[I-il STHRT fdBR [Option ID = 30055]

71) Formula to calculate number of matches in double league is

3reY o A A=Y ) T F} AT HRA BTG B
[Question ID = 14968]

1. N-1/2 [Option ID = 29871]

2. (N+1) /2 [Option ID = 29870]
3. N ( N-1) /2 [Option ID = 29869]
4. N (N-1) [Option ID = 29872]



Correct Answer :-
e N (N-1) [Option ID = 29872]

72) What do you mean by word ‘fartlek’?
"BIEAP' Vg A ATYHT T aTeqd 82

[Question ID = 14973]

1. Continuous / |Tdd [Option ID = 29890]

2. Specific / faf2T¥ [Option ID = 29891]

3. Speed play / 7T &T &d [Option ID = 29889]
4. Passive / fAfsHg [Option ID = 29892]

Correct Answer :-
« Speed play / T &1 W@ [Option ID = 29889]

73) 32nd Olympic Games, 2020 will be held in-
T4 SfieifU® @d, 2020 H Fal saifera fbe s

[Question ID = 14955]

1. Nanjing, China/ATIfSHT, <9 [Option ID = 29818]
2. Tokyo/ I [Option ID = 29817]

3. Lausanne/ﬂﬁﬁ [Option ID = 29819]

4. India / HRd [Option ID = 29820]

Correct Answer :-
e Tokyo/ A G2] [Option ID = 29817]

74) In Volleyball when the referee hold up a red card in one hand and yellow card in the other, the offending side-

aiciiara ¥ 99 YW U g1Y | a1 1 3R goR g1d § Hiar w18 3aan @ af smufve-s v
[Question ID = 15001]

1. Player gets severe warning / @FIT%@[ P TR dareHt [Option ID = 30002]

2. Player is expelled for the match/ et &1 7 & o fAep1iRya &= faum Srn § [Option ID = 30003]

3. Side loses a point / €1 T fafg W@ a1 § [Option ID = 30001]

4. Team is disqualified from the tournament./ <11 &1 gATHe ¥ 3w D &= faam T 81 [Option ID = 30004]

Correct Answer :-

« Player is expelled for the match/ RSt &) #a & o fse1iRyd &= f&ar Sirar § [Option ID = 30003]

75) Which of the following lines of the handball court is marked jagged (broken)?

Toata oi¢ 9 Frufifla § & 19 0 Y gider (28s%) Rfta £2 [Question ID = 14999]

1. Centre line/&&T [Option ID = 29993]

2. 4-metre line/4-HIeXQ@TZA [Option ID = 29995]
3. 7-metre line/7-HleTagd [Option ID = 29994]
4. Goal line /&I RN [Option ID = 29996]

Correct Answer :-
« 7-metre line/7-HeXarg [Option ID = 29994]

76) Pace runs is a method used to improve-

U9 31 U faftr @ foraeT U & dgar 991 & fore foear sian 81
[Question ID = 14967]

1. Agility/ I9@dT [Option ID = 29866]
2. Speed / TIfd [Option ID = 29865]
3. Power / fad [Option ID = 29867]



4, Reaction time / Ufdfehdl 9T [Option ID = 29868]

Correct Answer :-
+ Speed / TIfd [Option ID = 29865]

77) Physical exercise done in the presence of oxygen is called-

STRT #1 IufRufa & forar T IRifYe sarm™ seard 82
[Question ID = 14925]

1. Isometric /SHHIT [Option ID = 29699]

2. Isokinetic /3gdifdfe® [Option ID = 29700]
3. Aerobic/TRIfS® [Option ID = 29697]
4. Anaerobic/3fa@rIdg [Option ID = 29698]

Correct Answer :-
. Aerobic/Qi 9% [Option ID = 29697]

78) Which of the following is not a source of animal fat?

frafafEa & ¥ $19 ] a3 &1 8d 7 82 [Question ID = 14922]

1. Meat /|9 [Option ID = 29688]
2. Milk / ¥ [Option ID = 29687]
3. Almond/STGH [Option ID = 29686]
4, Egg/ 3fSI [Option ID = 29685]

Correct Answer :-
. Almond/dTqTH [Option ID = 29686]

79) Newton’s laws of motion better exemplify-

e & fd F T g ISR |2
[Question ID = 14936]

1. Kinesis/ f&R1T [Option ID = 29744]

2. Kinematics /f&aRfea [Option ID = 29742]
3. Kinetics/ e [Option ID = 29741]
4. Kinesthetics/ f3feaq [Option ID = 29743]

Correct Answer :-
« Kinetics/ $-1d1aq [Option ID = 29741]

80) Name the type of muscles which contract when the body is in motion?

IR A 7fd 1 R 5T UpR o TR $1 G gar 82
[Question ID = 14937]

1. Antagonists /9Tl [Option ID = 29746]
2. Neutralizers/dc® [Option ID = 29745]
3. Stabilizers /TSR [Option ID = 29747]
4. Agonists/TIAE [Option ID = 29748]

Correct Answer :-
 Agonists/Tl T [Option ID = 29748]

81) Purak, Kumbhak and Rechak are the parts of-
RE, PP 3R 3P b UNT &

[Question ID = 15017]

1. Pranayama/YTUTIITH [Option ID = 30067]
2. Tratak/ATcd [Option ID = 30068]



3. Yog Chakras/3T b [Option ID = 30066]
4. Meditation Asana/ $4T9 3T [Option ID = 30065]

Correct Answer :-
o Pranayama/YTUIIITH [Option ID = 30067]

82) M.Chinnaswamy stadium is located in-

TH et Rfeaw g R 2:
[Question ID = 14983]

1. Mumbai / &% [Option ID = 29931]

2. Bengaluru / ST [Option ID = 29932]
3. Kolkata / PIABTAT [Option ID = 29929]
4. Delhi / faeit [Option ID = 29930]

Correct Answer :-
« Bengaluru / ST [Option ID = 29932]

83) Personality is that which permits a prediction of what a person will do in a given situation” is defined by -

it 78 § it Frelt wfe ) forell TR & 2 T 9 U MfarwraTolt 97t St 3 § ) T uRer e 81
[Question ID = 14944]

1. Morton Prince/ |1 fi [Option ID = 29776]

2. Hans Eysenck/ 89 384 [Option ID = 29773]
3. Gordon Allport/TTg 3{TUlé [Option ID = 29775]
4. R.B. Cattell/ 3R | &I &cd [Option ID = 29774]

Correct Answer :-
« Gordon Allport/ATis 3MIAUIE [Option ID = 29775]

84) The only woman Indian Boxer who qualified for the 2012 London Olympics and bagged the
THHTT Afga R TR, RrgiR 2012 deq sl & fig sTefieTs fFar 3k wiva uew s1ira fear

[Question ID = 14949]

1. Manisha Maun/ H-TST #F [Option ID = 29796]

2. Mary Kom/ 5%} ®TH [Option ID = 29794]

3. LaishramSarita Devi/ @SR IRdT &dt [Option ID = 29795]
4. Pinki Rani/ fdat I [Option ID = 29793]

Correct Answer :-
« Mary Kom/ 8% &IH [Option ID = 29794]

85) The AAHPHER youth fitness test, which measures status and achievement in physical fitness objective, is
meant for both boys and girls of-

AAHPHER 34T fhea¥ 3%, ot AR® e Sgxa # fRUfa i Iuafr & Aruarg, Sl aea! ok asfeal F fire g
[Question ID = 14992]

1. 11 through 19 years of age / 11319 ITd &1 Y & HILTH [Option ID = 29967]
2. 9 through 17 years of age / 9 Y17 T &1 Y & ATHH [Option ID = 29965]
3. 9 through 19 years of age / 9 ¥19 ITA &I Y & HILAH [Option ID = 29968]
4. 7 through 15 years of age / 7 ¥15 AT $1 39 & ATLH [Option ID = 29966]

Correct Answer :-
« 9 through 17 years of age / 9 Y17 T 1 3H & HIEAH [Option ID = 29965]

86) The nearest point of the basket is from the backboard.

Ab8 BT Frpean fig arE Ipad A 2l



[Question ID = 14998]

1. Six inches/@% $d [Option ID = 29989]

2. Ten inches /&9 $9 [Option ID = 29991]

3. Twelve inches /dRE $d [Option ID = 29992]
4, Eight inches/3{Td $9 [Option ID = 29990]

Correct Answer :-
« Six inches/®g 4 [Option ID = 29989]

87) The Big Five Model of Personality involves:-
IfRId & a7 wiga Aisa & WA §: -

[Question ID = 14942]

1. Openness, Consciousness, Extraversion, Agreeableness, Neuroticism /XgdTd, %EHT, H%'-EI’@?IT, q@sﬂw, dfent fagm [Option
ID = 29765]

2. Openness, Conscientiousness, Extraversion, Agreeableness, Neuroticism / dTU, Wﬁ@, H%‘-EI’@?IT, SHThTHDH I, GIECAEIH
[Option ID = 29766]

3. Openness, Conscientiousness, Extroversion, Psychoticism, Agreeableness / iU, fb_cf?ﬂﬁ@'f, Eﬂ%'l:j@?ﬂ, m‘rféw, AR
[Option ID = 29768]

4. Openness, Conscientiousness, Psychoticism, Extroversion, Agreeableness/ gdlu-, Eb_cfwﬁm, Il:hﬁﬁ'\’, a%ﬁiam, AR
[Option ID = 29767]

Correct Answer :-

» Openness, Conscientiousness, Extraversion, Agreeableness, Neuroticism / iU, Wﬁm, El%ﬂ"@?ﬂ, 3MHTHEGT, dABEG
[Option ID = 29766]

88) The Harvard Step Test was first developed by-
BTAS WY e 9ad Ugd frad gr1 e favar war ar

[Question ID = 14959]

1. Kenneth Cooper / FY PR [Option ID = 29833]

2. Brouha. L / SRTGIUCT [Option ID = 29834]

3. AAHPER Research Council / AAHPER 3T giRwg [Option ID = 29836]

4. Roberta Rikli& Jessie Jones / Jiact Repait 3R S} S=T [Option ID = 29835]

Correct Answer :-
» Brouha. L / §R18TU [Option ID = 29834]

89) The height of the indoor hall where volley ball is played in an international event, should not be less than-
ISR §1d1 31 SIS 151 T AP HTAHH & Grelt g @ell ST} 3, T HH g1 oI A1
[Question ID = 14989]

1. 12.5 Meters/ 12.5 Hiex [Option ID = 29955]
2. 12.0 Meters/ 12.0 HIeX [Option ID = 29954]
3. 11.5 Meters/ 11.5HIex [Option ID = 29953]
4. 13.0 Meters/ 13.0 Hiex [Option ID = 29956]

Correct Answer :-
e 12.5 Meters/ 12.5 ez [Option ID = 29955]

90) The playing court of which of the following games is laid east to west direction?

fFrafafaa & ¥ g @ o1 @ ey gd S ufdm o= & w@r s g2
[Question ID = 14995]

1. Kabaddi/ ®&g! [Option ID = 29977]
2. Volleyball/ aTeiiaTd [Option ID = 29979]
3. AtyaPatya/ 3{ddl Uddl [Option ID = 29978]



4. Kho-Kho/ @I-l [Option ID = 29980]

Correct Answer :-
« Kho-Kho/ @I-& [Option ID = 29980]

91) The International Handball Federation was founded in the year-

SRTgIa geala wery it ®Ty b o # g8 @
[Question ID = 14958]

1. 1930/1930 [Option ID = 29832]
2. 1900/1900 [Option ID = 29829]
3. 1915/1915 [Option ID = 29830]
4. 1928/1928 [Option ID = 29831]

Correct Answer :-
e 1928/1928 [Option ID = 29831]

92) The term Revival is related to which game?

fargad v f5a Qa A Gafta @
[Question ID = 14991]

1. Fencing/%RiT [Option ID = 29963]
2. Kabaddi/ &ag! [Option ID = 29964]
3. Rugby/ 3§t [Option ID = 29962]

4. Kho-kho /31-@T [Option ID = 29961]

Correct Answer :-
+ Kabaddi/ ag! [Option ID = 29964]

93) The Dronacharya awardees are given a cash prize of -

ZIuTard RIBR fasiansi &Y Tee ReeR foar smar g1
[Question ID = 14953]

1. Rs. 5.00 lakh/ ¥ 5.00 ARG [Option ID = 29812]
2. Rs. 6.00 lakh/ T3 6.00 ARG [Option ID = 29809]
3. Rs. 8.00 lakh/ U3 8.00 &RF [Option ID = 29811]
4. Rs. 4.00 lakh/ ¥9¥ 4.00 @RI [Option ID = 29810]

Correct Answer :-
« Rs. 5.00 lakh/ ¥U8 5.00 ARG [Option ID = 29812]

94) The length of trachea in an adult person is about-

TP U Afed A YIA-Telt B daTg ary fba- gidl 82
[Question ID = 14927]

1. 5 cm/ 5 T4} [Option ID = 29708]

2. 10 cm/ 10 §Ht [Option ID = 29707]
3.20 cm/ 20 9t [Option ID = 29705]
4. 15 cm/ 15 I [Option ID = 29706]

Correct Answer :-
e 10cm/ 10 It [Option ID = 29707]

95) The term “personality” is derived from the Latin word “"Persona” which means

dfe Weg "feaa” A foran war afdaw forrer sidf &

[Question ID = 14943]



1. Temperament / ¥dHId [Option ID = 29771]
2. Character / 3¥deR [Option ID = 29772]

3. Mask /HIX® [Option ID = 29770]

4. Face / 38T [Option ID = 29769]

Correct Answer :-
e Mask /HR& [Option ID = 29770]

96) The cadence (number of steps /min) in Harvard Step test for women is-

#fgansil & fore grds Ry 3w § a9 (IRl / e ot 9= &
[Question ID = 14952]

1. 28 [Option ID = 29807]
2. 20 [Option ID = 29805]
3. 19 [Option ID = 29808]
4. 24 [Option ID = 29806]

Correct Answer :-
e 24 [Option ID = 29806]

97) The width of all lines marking a basketball court is-

TEpeard BIc B fafgd HA arelt Gt arg- &1 Hiers @
[Question ID = 14990]

1. 10.0 cm /10.0%°T° [Option ID = 29960]
2. 7.5 cm / 7.5 Tedle [Option ID = 29959]
3. 5.0 cm / 5.081°H° [Option ID = 29958]
4.2.5 cm / 2.5 FeHte [Option ID = 29957]

Correct Answer :-
« 5.0 cm / 5.0%°H° [Option ID = 29958]

98) The elapsed time from the starting signal until the runner crosses the finish line , that is obtained in seconds is
used as the score in-

3Tt Ry A T g3 9T 99 9% UTaP BT ag= &1 UR T8 % Ad1 3, S Ybs § YT Bia1 ¢ 98 R & TU A
IugT fbar Srar @

[Question ID = 14951]

1. Abdominal curl test/ TISIEAT &a ¢X¢ [Option ID = 29804]
2. Harvard Step Test/g1ds ®U 2% [Option ID = 29801]

3. Push up test/ QRT 3{T ¢3¢ [Option ID = 29802]

4. 50 Yards Dash/50 T 81 [Option ID = 29803]

Correct Answer :-
» 50 Yards Dash/50 TS 3T [Option ID = 29803]

99) The best way to condition the cardiovascular system for athletic performance is to engage in-

TYAR® UeR & e FifSdlangar Red 1 FIRE H 31 Ta0 BT DT 8
[Question ID = 15018]

1. Aerobic Exercise/QRIfS@ STATH [Option ID = 30071]

2. Anaerobic Workouts/TIRIf§& dd3{T3e [Option ID = 30072]
3. Ballistic Exercise/Sfdif&e =ammH [Option ID = 30069]

4. Yogic Practices/dIffT& {31 [Option ID = 30070]

Correct Answer :-
« Aerobic Exercise/WRifeie @M [Option ID = 30071]



100) One of the following is not an element of Ashtang Yog

frafafea 4 @ oI5 W erefT o #1786 9@ 61 3
[Question ID = 15015]

1. Dhyana/&d1 [Option ID = 30060]
2. Kunjal/@=STd [Option ID = 30059]
3. Yama/d¥ [Option ID = 30057]

4. Niyama/f=a® [Option ID = 30058]

Correct Answer :-
 Kunjal/®=5Idl [Option ID = 30059]



